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ITRX £ HEH% 5 zZ | &&t ITX £ HEH 5 x | A&t THX 4 HEH 5 x | A&t
HES 63 46 71 117 BER 18 28 35 63 JThHT E 8 11 13 24
fEFERR 17 22 22 44 RERT 12 18 11 29 JTTHT 7 8 11 19
AN 32 57 47 104 RERT 10 18 14 32 RHET 13 19 14 33
7 i FH 18 26 22 48 25 15 21 24 45 BAKHT 6 6 9 15
g 23 28 37 65 EnHT 20 20 26 46 PHAHT 9 15 10 25
=y EE 12 16 19 35 INR 19 28 28 56 FHTEE 1 6 6 7 13
=58 23 33 37 70 FEHE 61 18 43 61 FHIE2 13 14 19 33
EiG3F 39 52 61 13 |2 |/ 14 18 32 50 FHIES 12 11 16 27
FE1RX |Fi5 9 17 14 31 284 20 28 29 57 ||563 X | FHT 4 11 16 14 30
£z 5 24 28 44 72 MR 40 52 53 105 FRFNET 16 31 27 58
EER 148 8 9 16 25 mEE 2 4 3 7 Fiz 15 19 21 40
B 248 14 22 15 37 DR 10 17 18 35 BL 23 36 33 69
B 20 [ #h 34A 14 13 17 30 HFEER 2 0 2 2 [ ER 16 25 24 49
B & i 448 8 5 9 14 52 12 12 14 26 ®1TH 20 19 27 46
E &R 548 7 8 10 18 Hi 297 329 387 716 B2TH 26 29 40 69
FRAT 48 51 16 67 HEMN 149 152 137 289 B3TH 15 19 17 36
RIS 9 8 5 13 ||E3X | LET L1 5 8 8 16 REAfEE 10 7 3 10
it 368 | 441 462 | 903 FHETESE2 6 8 6 14 & IEHT 18 25 31 56
F2R |[HEN 42 47 55 102 LHETT 21 35 27 62 B RR—RILF 21 21 31 52
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THRE A HEH 5 zZ | &&t THREA HEH 5 x | A&t THEA HEH B x | /it
O E 19 27 23 50 Fot 17 21 34 55 Y AE2 9 16 18 34
HL—ZILEWER 19 31 33 64 it 16 27 21 48 5KHE3 10 19 18 37
FE3RX |[7rsvra—taumn 31 36 46 82 5| 14 22 25 47 ||E5 R | T 15 31 30 61
HrtEr 0 0 0 0 ||F4R[HDLE 17 11 14 25 QEVRTF— 22 48 37 85
R BT 11 23 22 45 HERES PR 0 0 0 0 5 434 | 554 | 566 1,120
D7E<C 13 26 24 50 IS 0 0 0 0 e 120 79| 110 189
DR 14 21 27 48 it 215 293 334 627 Fi BT 7 7 10 17
Hi 553 [ 704 | 720 1424 HEN 140 [ 117 123 240 HiRE 39 45 53 98
HES 23 29 19 48 k1 13 15 22 37 B3R 38 41 61 102
RE)F 14 17 20 37 JkKH2 18 16 27 43 BiRT 23 27 22 49
mE 6 11 10 21 Ly £ 12 10 14 24 32 37 48 49 97
=L 6 10 16 26 NIT 27 44 41 85 ||5E6X |5t 20 29 29 58
=T 9 16 19 35 NIE 10 15 16 31 tE 16 28 30 58
FAX | = A 7 11 21 32 ||E5E|)NE 20 22 26 48 I 22 37 45 82
Z&F 38 59 68| 127 m¥F 20 35 33 68 it/ IR 27 42 4 83
HA 8 10 9 19 K 15 25 21 46 AME 16 18 26 44
KLt 6 12 8 20 FA 19 28 34 62 AR i 17 18 22 40
—H*K 14 18 22 40 REHT 34 57 50 107 X 9 11 9 20
s 20 19 28 47 Za—SA7=EHE 50 56 56| 112 5 391 | 430 507| 937
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THRE 4 HEH 5 zZ | &% THRE4 HEH 5 x | 8§ THREX 4 HEH B z | &t
HES 85 80 48| 128 RATEES 10 9 1 10 RET1TH 3 4 7 11
% 11 16 16 32 ZIHEET2 16 11 15 26 RET2TH 10 13 13 26
tEZEH 26 39 30 69 Z|HAET3 20 12 20 32 REISTH 2 2 2 4
MERH 26 34 37 71 Z|HAT4 24 26 26 52 RET4TH 16 24 26 50
K% 18 26 24 50 = THT1 25 25 31 56 REISTH 5 4 4 8
g0 26 34 49 83 = THET2 8 8 14 22 HET6 T H 13 6 15 21
EIR|R/R 31 30 41 71||5E8 X (& THT3 13 15 20 35 EDH 17 18 24 42
[REEEHH 14 16 15 31 = NHTRE 36 23 25 48 XHEITE 18 21 34 55
ARE 28 33 45 78 BTFYYIR 19 9 13 22 X#iE2TH 19 28 31 59
FIVREE R 0 0 0 0 -S4 TBEMN 21 23 23 46 ||%9R |[X%:E3TH 13 16 24 40
=RH 15 20 23 43 Fx 8 18 16 34 X#%EATH 31 42 46 88
NINERE 0 0 0 0 AR FOHET 0 0 0 0 X#:E5TH 12 14 15 29
FHENLE 0 0 0 0 Hi 330 336 355| 691 X#HE6TH 24 30 47 77
Hi 280 328| 328 656 HEN 302| 326( 342| 668 X#%:E7TH 23 32 40 72
HES 62 60 49 109 MR 10 15 15 30 XHESTH 19 32 33 65
BRRHET 13 22 21 43 Ly by olvic] 22 29 35 64 XHENTE 11 7 8 15
TEET 6 7 9 16||FE o |11 5@ 20 29 33 62 X#%:&10TH 13 30 23 53
H8X [RATL 17 21 26 47 Nim24R 13 18 16 34 SEHET 13 13 17 30
RETT 22 32 33 65 Nim=#A 25 35 32 67 TFHHET 32 40 56 96
HATE?2 10 15 13 28 A EET 9 13 12 25 2N TY 9 16 9 25
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aERs  |HEn| B | & | A FERE  |mEn B | & | A TREE  |HER] B | & | &t
ZFNET 15 18 23 41 BTS2 13 17 15 32 || 10 |5+ 360 | 393 436 829
G)—ongy 36 32 50 82 HHET 16 24 20 44 tHE5 179 | 134 148 282
2T~ Y 21 23 21 44 M HE 7 6 9 15 mEs1TH 16 20 21 41
—a1—3547 56 60 64| 124 M/EE2 16 21 16 37 mEE2THE 20 22 27 49
Ry—LAHY 20 12 20 32 M/ HES 10 10 13 23 m=S3TH 19 11 24 35
TOELURALY 14 13 21 34 H/HES 10 12 12 24 mEBE4TE 14 16 20 36
J4J)La—k 18 24 24 48 M/ HES 14 13 18 31 m=S5TH 21 30 22 52
FORX|HEFHT 10 18 22 40 EPES1TH 18 20 20 40 Mm56TH 15 13 22 35
X%:&11TH 8 13 17 30 E0FA2TH 21 22 28 50 EMes7TH 16 18 22 40
DUTARESL TS 20 33 43 76 EPFA3TH 20 22 24 46 M=a8TH 19 23 23 46
4 9 21 16 37 ||E 10X |z vxa4TH 17 14 21 3 ||F1R|(EEE9TE 13 14 16 30
75X HT 13 25 31 56 EPEASTH 21 31 31 62 MEB10TH 22 31 30 61
7L 5L TR 30 52 55| 107 EPFEL6THE 22 31 26 57 MEB11TH 14 18 19 37
M H 0 0 0 0 EPFATTH 12 15 15 30 MEE12TH 14 16 13 29
R AGHET 0 0 0 0 EPFEABTHE 16 19 17 36 tEB1TH 18 16 28 44
FEHT 0 0 0 0 EPFAOTH 19 21 24 45 tE82TH 15 13 21 34
E=HU—2n(Y 0 0 0 0 EPFER10TH 23 30 33 63 tE83TH 13 17 15 32
Hi 974 | 1,201 | 1,366 | 2,567 EPFL11TH 14 16 18 34 tE84TH 22 26 23 49
10X |FHE S 4 3 5 8 BEv YAy 13 5 8 13 t=E85TE 14 16 18 34
FETEE 1 24 30 33 63 JLST—)LEL 30 11 30 41 t=E8E6THE 17 19 24 43
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TERRE |HEH B zZ | A&t THRE 4 HEH 5 x | &t TBRRE |HEH B xzZ | &5t
tE87TH 10 11 12 23 ER1TH 13 14 17 31 ||E12 |5+ 385 | 440 499 939
tE88TH 21 25 33 58 EHR2TH 18 20 27 47 &5 0 0 0 0
tE89TH 13 17 23 40 EHRITH 22 22 34 56 Ak 11 9 14 23
i 13 18 15 33 EHR4TH 15 21 17 38 A2 16 12 23 35
E¥=N 9 15 15 30 EHR5TH 14 14 21 35 A#3 14 11 21 32
w®K1TH 23 33 47 80 EFH6TH 16 15 22 37 PN -2 23 25 33 58
Bl:ES 11 15 15 30 EH7TH 17 20 22 42 AK1%5 17 10 13 23
A H 7 33 43 42 85 EH8TH 14 19 15 34 Ati6 19 20 32 52
$L5Y—1TH 31 44 36 80 EHROTH 18 20 20 40 y. N 17 21 20 41
E1R [$rru—sTE 17 17 19 36 ||#12=|ER10TH 20 21 23 44 ||E 13 | K$%8 20 16 23 39
$o5)—2aTH 15 23 27 50 EFHR11TH 13 10 20 30 AR#1TH 17 16 23 39
H#5)—5TH 26 32 45 77 EFH12TH 26 27 29 56 dtA#2TH 16 21 16 37
$L5)—27TH 20 21 26 47 EH13TH 18 24 28 52 A#3TH 18 19 20 39
aR 41 14 44 58 EH14TH 22 26 24 50 tAX#4TH 13 15 12 27
Cir=y= 11 16 21 37 EH15TH 18 27 22 49 kA#5TH 21 21 27 48
w®Kk2TH 10 21 16 37 FH16TH 23 20 25 45 dtA#6TH 6 6 3 9
®IK3TE 8 13 12 25 EF®R17TH 18 17 22 39 kA7 TH 13 14 14 28
IR 13 16 20 36 K#1TH 33 42 43 85 H 241 236 294| 530
it 806 | 867 | 1,004 | 1,871 K#2TH 25 35 41 76 ||E14= [FE&1TE| 261 | 344| 356 | 700
E12X (&5 22 26 27 53 1=VyrFasLR 0 0 0 0 || 15E|HvEs2TH 272 309 342 651
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THRER 4 HEH 5 zZ | &F THRE 4 HEH 5 % | A&t THRER 4 HEH 5 x | &&t

F16RX |[THEE3TH 428 491 528 | 1,019

FITIRX|[TEE4TH 524 612 665 | 1,277

wast 7,119| 8,308| 9,149( 17,457




